Summer term Year5 Maths year5@sjsp.islington.sch.uk
Monday 6™ July

Learning Reminders

Revise column addition of whole numbers.

Adding 45,782 + 52,476 is just the same but with an extra digit!

First add the 1s.
2+6=8.
The 8 goes in the 1s place in the /
answer line. Next add the 1000s.
Next add the 10s. 45782 5+2‘_’1=8'
8+7=15. +52476 < The 8 goes in the 1000s

\_ place in the answer line.

The 5 goes in the 10s place
in the answer line. ’ 1]
Put the 1 in the 100s place /

o above the line. ol 98258
Next add the 100s. >
7+4+1=12. Finally :dd 5theglO,OOOs.
. +5=9,

e 2 goes i the 10-05 place The 9 goes in the 10,000s
‘ in the answer line. : s )
‘ Put the 1 in the 1000s place \__Pplace in the answer line.
\ above the line.

Learning Reminders

Revise column addition of whole numbers.

Adding 52,378 + 3641.
__',..-r"
One number has 5 digits one 52378
number has 4 digits. + 3641

/

Reading the numbers out aloud can help check that
they are lined up correctly. —

Three thousand should be directly under two Now findth ;o
- thousand, six hundred under three hundred and soon. owTind the answer: ’

\ A

61005
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Choose either Mild or hot depended on your confidence you could always do both

Practice Sheet Mild
Adding 3-digit and 4-digit numbers

Answer each question using compact column addition.
But, look out for one which would be quicker to calculate mentadlly.

1. 3575+ 2718 5. 4578 + 234
2. 5671 + 1482 6. 8482 + 573
3. 4289 + 245 7. 7458 + 634
4. 6582 + 1998 8. 5678 + 3781

.~ Challenge )

Write two additions with answers between 5000 and 10,000 where there are no 2s or 3s in any of the numbers.

Practice Sheet Hot
Adding 4-digit and 5-digit numbers
Answer each question using compact column addition.
But, look out for one which would be quicker to calculate mentally.

1. 63,789 + 24845 6. 45782 + 2845
2. 27,045 + 16,839 7. 28341 + 5294
3. 34578 + 26,284 8. 34784 + 3997
4. 74,286 + 52,153 9. 72458 + 8725
5. 58482 + 34,619 10. 56,794 + 7537

1 Challenge |

Write two additions with answers between 20,000 and 30,000 where there are no zeros or fives in any of the numbers!
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Monday
L ¥ 32 = X Cmr Y % £ X > WM x ¥ < % = om ! x *
g 4 - _\.I 1
I By Investigation
Football Crowds I‘l .I
& | Arsenal 59,999 % | Liverpool 52,983
«| | B | Bournemouth 9,532 @  Manchester Utd. | 74,498
()  Chelsea 40,437 &  Newcastle 51,121
i ¥ | Crystal Palace 25,455 ¢ | Tottenham 54,216 |
| | 8 | Everton 38,780 ¥ Watford 20,003
*| | @ | Huddersfield 22,202 @ | Wolves 31,137

The table shows average attendance at some Premier League football
grounds last season. Use the information in the table to solve these
3 addition problems.

For each problem try to answer first by rounding and estimating, then
1 check by adding.

1. Find two teams whose total attendance is less than 30,000.

2. Find two teams whose total attendance is very close to 90,000.
3. Find two teams whose total attendance is very close to 60,000.
4

. Emma said that the combined total attendance for Everton and
e Wolves is greater than 70,000. Is she correct?

B 5. Peter said that the combined total attendance for Tottenham and
Chelsea is less than 90,000. Is he correct?

| &. What is the total of Manchester United and Liverpool's attendance?

5 7. Can you find two more teams whose total attendance is also greater
than 100,0007

a 8. Beth said that she can use a mental strategy to add Watford's
attendance to any other teamn’s attendance. What strategy did she ¥
C use? Give some other examples adding to Watford to show how this

¢ works.

Q. Tariq said that he can use a mental strategy to add Arsenal's
attendance to any other team'’s attendance. What strategy did he use?
< Give some other examples adding to Arsenal to show how this works.

& Hamilton Trust. Explore more Hamilton Trust Learning Materials at https:/fwrht.org.uk/hamiklon

- - - _ ] - -4 L - - -
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Tuesday

Learning Reminders

Add three, four and five numbers including those with different numbers of digits.

Adding 4567 + 24 + 236

There’s something
wrong here!

4567

2 4 4567 + 24 + 236 can’t be more than
+2 36 9000 as we are only adding 100s
11 and 10s on to 4567.

Closer to 5000 is a better estimate.
9337 ) aud

Try setting out 4567 + 24 + 236

and solving it before checking I X
on the next page.

Learning Reminders

Add three, four and five numbers including those with different numbers of digits.

Adding 4567 + 24 + 236
That’s better! '
4567
2 4 ___ The 1s and 10s digits of each J
number are all lined up correctly.
+ 236
g
I T Add the 1s, then 10s, then 100s,
5827 - then 1000s.
Remember to use the ‘waiting

7 line’ for any digits moved
between columns.
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Tuesday - choose which level you think you can do

1. 54+37 + 28 + 46

2. 548 + 24 + 36

3. 274+ 145 +78

4. 346 + 214 + 257

1. 537 + 138 + 67 + 83
2. 4521 +35 + 82

3. 548 + 278 + 325 + 426
4. 3471 + 1824 + 2347

5. 4721 +5321+378 +753

year5@sjsp.islington.sch.uk

Practice Sheet Mild
Adding towers’ of numbers

5. 537 + 138 + 67 + 83

6. 4521 + 35 + 82

7. 548 + 278 + 325 + 426

8. 3471 + 1824 + 2347

Practice Sheet Hot
Adding towers’ of numbers

6.

7.

10.

8461 + 374 + 68 +94

78 +93 +45 + 62 + 48

745 + 428 + 328 + 38 + 75

4782 + 871 +372+58 + 82

5479 + 2781 + 3781 + 651 + 238
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Investigation
Adding Towers

4812 852 56 6748

s | [sas] [es | L24

Challenge 1

Find three or four numbers with totals in the following ranges:

<200

500 to 1000 Look carefully at the

1000 to 2000 numbers and estimate

4000 to 5000 your answers before

8000 te 9000 setting out carefullyin
columns +o add.

Challenge 2

Find four or five numbers, aiming to find a total with an
answer in each of the following ranges:

10,000 to 12,000
>12,000

Champion Adders Challengel
Find the total of all 10 numbers.
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lengths in metres.

This is very like adding
amounts of money in pounds

and pence. }

lengths.

Use column addition to add decimals and measures including money.

This is an addition of two /L 45.83m + 23.45m

Carefully add the two J

"’____.. mentally!

Today there will be a whole mix of
calculations to work out using column
addition, but - as always - watch out for
any that might be more efficiently solved

4 5.8 3m
+2 3.4 5m
|
Answer
WEZ'69

Practice Sheet Mild
Adding decimals, measures and money

Solve using column addition. Look out for a question which would be quicker to answer mentally.

1. £2447 + £18.28 5.

2. £3583 +£26.72 6.

3. 4824 + 2713 7.

4. 345.7 + 228.6 8.

£45.67 + £19.99

34.26m + 25.38m

78.85m + 46.47m

£56.38 + £5.74



mailto:year5@sjsp.islington.sch.uk

Summer term Year5 Maths year5@sjsp.islington.sch.uk

Practice Sheet Hot
Adding decimals, measures and money

Solve using column addition. Loock out for a question which would be quicker to answer mentally.

1. 345.7 + 228.6 d. £56.75 + £29.98

2. £7885 + £46.47 6. 76.78m + 47.59m

3. 457.8 + 3645 7. 6345 +78.6
4 2346 + 34.28 8. 45.38m + 8.64m
/—(Chcllenge\l

Two amounts are added together, totalling £100.50 exactly. £OO ) OO
The total of the 10ps is greater than £1.
What could the two amounts be? = EOO X Oo

AN

Working out
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Wednesday’s Challenge

Check your understanding
Questions

Arrange the digits 4, 5 and 6 to create an addition of two 3-digit numbers
which add to 1000.

You may use each digit as often as you like.

Explain why it would be sensible to choose different methods to solve (a)
and (b) below. Then solve both.

(a) 67,493 + 21,561

(b) 50,005 + 9,998

Complete the addition by finding OJ, <= and A:
120062

+ 938+

2251

Use digits 2 to 8 once each to create two amounts of money in the form
£000.00 + £0.00. Add these.

Now re-arrange the digits so as to give the largest total possible.
Now re-arrange the digits so as to give the smallest total possible.

10
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THURSDAY

Week 15, Day 4
Solving mathematical puzzles: domino problems

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning NS,
Reminders. iy M

2. Think you've got it? Have a go at the
Investigative Practical Activity.

3. Have I mastered the topic? A few questions to PR TG R
Check your understanding. Hllist
|d) 5304

I#) A8T¥

Wi # gy ines il Dan imulliphy (U0ES g 10 0o et a3 0007

Witc® ramher i one Bundned times snaller than 0 47

11
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Thursday

Solving domino puzzles.

A domino has up to 6 ¢ Sleve This one has a total of 11 spots.
: ©
spots in each pll:n- ) |e oleece p That’s a near double! J
There are 28 unique
dominoes in a set.

| i T The ones with no spots
HHEF are called blanks.
This is ‘blank-3’ and has a
- total of 3 spots. P
. . ol |% o °

Solving domino puzzles.
The ends of the dominoes must
In this puzzle 4 dominoes are l match.

——

used to make a square.

e
°
. °
This square uses the 3 and 2, —
2 and blank, blank and 5 and 5 LR 4 L | . .
5 and 3 dominoes. ® & @ ® ‘e

\

Check that the total of all of the spots is 20. I

solution for a total of 20 spots...?

( | wonder whether this is the only ]
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Investigative Practical Activity
Domino squares

IE/Things you will need: A
a set of 0-0 to 6-6 dominoes [check that you have

all 28), or cut out the set we provide )

« Four dominoes are arranged in a square so that ends match, and the
total of all the spotsis 20. Find at least 4 different solutions.

« Use the page of blank square grids to record your solutions.

* Repeat, this time finding domino squares with a total of 30.
* What strategies did you apply from last time?

e What did you change?

 What was the same?

e Can a square of dominoes be made with an odd total?

+ How can you explain this?

* What is the smallest total you can make? And the largest?

W | f_;
—  Chadllenge

-~ —
“Crsprprr it
Use eight dominoes to make a square (2 on each side).

Ny

Again, the ends of each domino should match.
Make at least one square so that the total of dll of the spots is 50.

13
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Investigative Practical Activity
Domino squares
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Investigative Practical Activity
Domino squares

Carefully cut out this set of dominoes to use if you do not have any at hom
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Check your understanding

Questions

Make squares of four dominoes with the following totals.

Don't forget that the ends must match!

12 16 26
Fold here to hide answers
Check your understanding
Answers
Here are just some of the possibilities:
1 1 1 2 1 1 3 3
1 12 0 2 16 1 26 | 5
4 4 0 4 4 1 2 5

17
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Friday

Transformations: reflection and rotation; pentomino puzzles
Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning e e i |
Reminders. e T

2. Think you've got it? Have a go at the
Investigative Practical Activity.

3. Have | mastered the topic? A few questions to Sre——

Check your understanding. i iahnantaris i

enlagons on the left ol swach grid and then the sefhection armon
s o0 Uve it The fiesd 5 drawn i Lo et you off, chosse

]

18
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Friday

Transformations: reflection and rotation.

To solve today’s puzzles we will need to
reflect and rotate shapes.

Here, the L shape has been reflected across
the dotted line.
The shape on the right is the mirror image
of the shape on the left.

Y
g
Here, the L shape has been
rotated (turned around)
in anticlockwise steps
of 1/, turn or 90°,

Transformations: reflection and rotation: pentomino puzzles.

So, what is a ‘pentomino’? J

Well, we know that this is a domino: C‘

Which makes this a triomino: |
e i)

Ve

| So, is this a different triomino? I

NO. Each of these arrangements of 3
squares is either a reflection or rotation of

l J 7' And these? I
an arrangement we have already found.

»

There are only two unique triominoes.

19
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So, what is a ‘pentomino’? J

Transformations: reflection and rotation: pentomino puzzles.

Four side-by-side squares make a tetromino:

How many other arrangements can you find?

REMEMBER — A unique tetromino will not be
a reflection or rotation of an arrangement
you have already found.

Investigate this for yourself before
checking on the next slide...

Here are the 5 tetrominoes.

None of them is a reflection or
rotation of any other.

Transformations: reflection and rotation: pentomino puzzles.

So, can you use 5 side-by-side
squares to make every
possible unique pentomino?!

Use the squared paper to

— sketch and investigate...

- v

|

/

There are more than 10,
so persevere before
checking out the whole
set on the next slide...!

20
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Transformations: reflection and rotation: pentomino puzzles.

Here they are...

The 12 unique pentominoes.

HEEEEREE L |

h

Did you find them all?!
Remember, you may have a reflection or rotation of one of
these, so it looks a bit different but is actually the same shape...

If in doubt, cut out your shape,
then rotate or reflect it to try to

\\_ sit it on top of one of these 12...

21


mailto:year5@sjsp.islington.sch.uk

Summer term Year5
Friday

Maths

year5@sjsp.islington.sch.uk

22


mailto:year5@sjsp.islington.sch.uk

Summer term Year5

Maths

year5@sjsp.islington.sch.uk

23


mailto:year5@sjsp.islington.sch.uk

Summer term Year5s Maths year5@sjsp.islington.sch.uk

Investigative Practical Activity
Investigating Pentominoes

Things you will need:
a set of 12 pentominoes [see next page)

&«

S0, did you enjoy trying to find all 12 unique pentominoces?!
Carefully cut out the set of pentominoes to use for these activities.

Challenge 1
All 12 pentominoes can be arranged to make a 10 by 6 rectangle. Here is one
solution:

» Look at the solution for 30 seconds. Now turn over the page and see if you
can make the rectangle with all 12 of your pentominces.

* Remember you will probably need to reflect or rotate your pentominoes.
If you get stuck. have another peek at the solution...

Challenge 2
MNow try to make other rectangles with the pentominoes:
+ Use three pentominoes to make a 3 by 5 rectangle.
* Use four pentominoes to make a 4 by 5 rectangle.
+ Use five pentominoes to make a 5 by 5 rectangle lie. a square).
* Use six pentominoes to make a 6 by 5 rectangle.
+ Use all 12 pentominces to make 3 by 20, 4 by 15 and 5 by 12 rectangles!

Challenge 3
Here is the same shape, each made by joining 2 pentominoes:

* Find 4 more pairs like this.
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Investigative Practical Activity
Investigating Pentominoes

A set of all 12 pentominoes

25
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Check your understanding
Questions

Pentomino reflections

Using the co-ordinate grid as a guide, carefully draw one of your pentominoes
on the left of each grid, then the reflection across the y-axis on the right. The
first is drawn in to start you off; choose 7 more.

& L]
S £
1 ]
> .
1= -
¢ & 4 -2 - 4 of 1 i % 4 & 4 i £ 4 4 5 4 of 1 ¥ 3§ ¥ E 4
] i
5 T
1 1
1
7 7
| 1=
¢ £ 4 3 % 1o 1 2 3 ¥ F & 4 5 4 49 & 140 1 2 3 3 F 4
] i
& -
1 1
1
7 7
| 1=
¢ £ 4 3 % 1o 1 2 3 ¥ F & 4 5 4 49 & 140 1 2 3 3 F 4
& i
& 5
F 1
1 T
= g
9 T
] 1 ) | ] | ] T | ] | ) ¥ " ] ] T T L] ) 1) ] ¥ 1 T ] ]
4 -5 4 -3 -2 1 0 1 2 3 4 5 4 & 5 4 -1 -p 1 o] 1 * 3 4 5 4

Answers on next page
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Weekly answers

Friday

Answers

Pentomino reflections

Look for accurately drawn reflections across the y-axis, e.g.

6
5 -
4
3
2

sl
th
-
i
.
_
L=
—
Pl
.
.
e
Sl

Thursday

Adding decimals, measures and money (mild)

ONO A WN -~

£2447 +£18.28 =£4275

£3583 + £26.72=£6255

4824 + 2713 =7537

3457 + 2286=5743

£45.67 + £19.99 = £65.66 quicker to work out mentally
34.26m + 25.38m = 59.64m

78.85m + 46.47m = 125.32m

£56.38 + £5.74=£62.12

Adding decimals, measures and money (hot)

ONOWUEWN -~

345.7 + 2286 =5743

£78.85 + £4647 =£12532

4578 +3645=8223

23.46 +3428=5774

£56.75 + £29.98 = £86.73 quicker to work out mentally
76.78m + 47.59m = 12437m

6345 +786=713.1

45.38m + 8.64m = 5402m

Challenge ~

Two amounts are added together, totalling £100.50 exactly.
The total of the 10ps is greater than £1.
What could the two amounts be?

e.g. Any pair of amounts, totalling £100.50 where the 10ps total is >£1.
£46.63
+ £53.87

28
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Thursday

Check your understanding
Answers

Arrange the digits 4, 5 and 6 to create an addition of two 3-digit numbers
which add to 1000. You may use each digit as often as you like.

Possible answers:

444 + 556, 445 + 555, 446 + 554, 454 + 546, 455 + 545, 456 + 544.

Explain why it would be sensible to choose different methods to solve (a)
and (b) below. Then solve both.
(a) 67,493 + 21,561 89,054 best solved by column addition as there
are lots of different digits in each number and several instances

where ‘carrying’ will be needed.
(b) 50,005 + 9,998 60,003 can be solved mentally with supporting
jottings, by adding 10,000 and then subtracting 2.

Complete the addition by finding OJ, 4= and A:

12862
+ 9389
1111
22251

Use digits 2 to 8 once each to create two amounts of money in the form
£00.00 + £0.00. Add these. Various answers.

Now re-arrange the digits so as to give the largest total possible.
Possible largest: £86.42 + £7.53 = £93.95 (digits for the £1s, 10ps or 1ps
can be swapped over, e.g. £87.53 + £6.42).

Now re-arrange the digits so as to give the smallest total possible.
Possible smallest: £24.68 + £3.57 = £28.25 (again, digits for the £1s, 10ps
or 1ps can be swapped over).


mailto:year5@sjsp.islington.sch.uk

Summer term Year5 Maths year5@sjsp.islington.sch.uk
Wednesday

Practice Sheets Answers

Adding ‘towers’ of numbers (mild)

24 + 37 + 28 + 46 = 165
248 + 24 + 36 = 608

274 + 145 + 78 = 497

346 + 214 + 257 =817

237 + 138 + 67 +83 =825
4521 + 35 + 82 = 4638

248 + 278 + 325 + 426 = 1577
3471 + 1824 + 2347 =7642

®NOCUAWN -

Adding ‘towers’ of numbers [hot)

537 + 138 + 67 + 83 =825

4521 + 35+ 82 = 4638

548 + 278 + 325 + 426 = 1577

3471 + 1824 + 2347 = 7642

4721 + 5321 +378 +753=11,173

8461 + 374 + 68 + 94 = 8997

78 +93 +45 +62+48 =326

745 + 428 + 328 + 38 +75=1614
4782 + 871 + 372+ 58 +82=6165

5479 + 2781 + 3781 + 651 + 238 = 12930

—0ONOURWN -~

o

30


mailto:year5@sjsp.islington.sch.uk

Summer term Year5 Maths year5@sjsp.islington.sch.uk
Monday

Practice Sheets Answers

Adding 3-digit and 4-digit numbers [mild)

O N AW

Challenge

3575 + 2718 = 6293

5671+ 1482=7153

4289 + 245 = 4534

6582 + 1998 = 8580 quicker to work out mentally
4578 + 234 = 4812

8482 + 573 = 9055

7458 + 634 = 8092

5678 + 3781 =9459

Write two additions with answers between 5000 and 10,000 where there are no 25 or
35 in any of the numbers.

eg. 4061 + 4694 = 8755

Adding 4-digit and 5-digit numbers (hot)

=0 M NOoU AW

63,789 + 24,845 = 88,634

27045 + 16839 = 43 884

34578 + 26,284 = 60862

74286 +52153 = 126439

58482 + 34619=93,101

45,782 + 2845 = 48,627

28341 + 5294 =33.635

34784 + 3997 = 38,781 quicker to work out mentally
72458 + 8725 =81.183

56,794 + 7537 = 64331

Challenge

Write two additions with answers between 20000 and 30,000 where there are no zeros
or fives in any of the numbers!

eg. 11226 + 8393 =19,619
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